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(d) none of the above
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(b) S +b
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(d) none of the above
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END
CLASS



In(z +y) =77
(a) (Inz) + (Iny)

(b) (Inz)(Iny)
(c) (Inz) — (Iny)

(d) none of the above

0% 0% 0% 0%
Correct ans: no simplification | < 5 . -
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7 radians = 7?7 degrees

(a) 30
(b) 60

(c) 90

(d) none of the above
0% 0% 0% 0%

Correct answer: 180 N N \ .
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END
QUIZ



cos(m) = 77

(a) —1
(b) v3/2
(€) v2/2

(d) none of the above

0% 0% 0% 0%

R v > ™
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T or F:
Jx €Z st. x2 =2

(a) True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

13

0of 5 Topic 0010 O pts




T or F:
dxr € Q s.t. 12 = 2

(a) True

(b) False
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(a) True

(b) False

T or F:

(—1,1) is open

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
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T or F:
[—1,00) is closed

(a) True

(b) False
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T or F:
[—1,00) is compact

(a) True

(b) False
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Domain of /x is 77

(a) x € R

(b)) z € Q

(c) x € (0,00)

(d) none of the above
0% 0% 0% 0%

Correct answer:x € [0,00) |“% : - X
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Which is a linear combination
of 1,x, 227

(a) sinx

(b) 2 4+ 8z + 722

(c) e”

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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Which is a linear combination
of 1,x, 227

(a) sinx

(b) 2 —x

(c) e”

(d) none of the above
0% 0% 0% 0%

R Vv > ™
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Quartic coefficient in
3:195—|—:U4—m3—|—8:c—|—7r

(a) 1
(b) 3

(c) -1

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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Leading coefficient in
32° + 2% — 23+ 8r+ 7

(a) 1
(b) 3

(c) -1

(d) none of the above

0% 0% 0% 0%

R Vv > ™
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1 2 1 (2z —y)3 =77

() 8z3 — 43

(b) 823 + 43

(C) 813 — 3(4z2)y + 3(22)y? — y3

(d) none of the above
0% 0% 0% 0%

R v > ™
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distance from 7 to 97

(a) 2

(b) =2

(c) 4

(d) none of the above
0% 0% 0% 0%

R v > ™
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distance from 9 to 77

(a) 2

(b) =2

(c) 4

(d) none of the above
0% 0% 0% 0%

R v > ™
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distance from x to 57

(a)b—=x

(b) |5 — x|

(c)x—5

(d) none of the above
0% 0% 0% 0%

R v > ™
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distance from a to b7

(@) a —b
(b)b—a

(C)a—+0b

(d) none of the above
0% 0% 0% 0%

Correct answer: |la —b| |\ &
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